—

§/ PROTEM

A CUT ABOVE THE REST

Bedienungs- und Wartungsanleitung

Maschinentyp TTSNG
22-STD-12/16




PROTEM SAS PROTEM GmbH

Z| les Bosses ] ] Am Hambiegel 27
F-26800 Etoile sur Rhone { |€CEFRI D-76706 Dettenheim
Tel.: 0033 (0) 47557-4141 / [ == | Tel.: 0049 (0) 7247 9393-0

Fax: 0033 (0) 47557-4149 A CUT ABOVE THE REST e i =0 oot Fax: 0049 (0) 7247 9393-33

www.protem.fr www.protem-gmbh.de
TTSNG 88_22STD1216_Rev A_230217 2/38
Inhaltsverzeichnis

O o L o 3
AT KAPITEL SICHERHEIT ..ottt esssssenssesssssssssssssssssssessssesessssssssssessesssssssensssessessssssssssssessenessens 3
A2 BESCHREIBUNG .......cccoieuimreenie et sssassssssssesss s sesessssessssssssssessssesssssessessemsssessesesmesesmsseessenesseseens e e 6
B2 ABMIESSUNG . ccc: oo vuvisvssansissisinsissss s ssinsssimoisaissssss s s Ao Fossh s e eem e e A e AEEA LR 6
AB2  FUNKTIONEN iciciicicusussssusiisuesivionsssissssesnanenamnnsnasmertnsenssssmramsssass nsasessnsnsssanssssos sasssusssorssssiissssnsisssamis 7
A.2.3 TECHNISCHE DATEN ....oeoovueereersesssesssessssssssssssssssssssssmsssssesessssssssssssssssssssssssesssssessasssssss s seses 7
Bl ANNNEIIDIIING ..o eonnssswessn s i om0 e N A s SN RS asSaie ammse o e nsmeaamd 8
A3 1T ANWENDUNGSHINWEISE.......coesteeerseesessssssssssssssssssss sessasssssssessssssenssssssssssssssssssssssessesseseeesssenee 8
A.3.2  INBETRIEBNAHME..........ccoveverrererrssesssssisssssssssssssssssssesssssssssssssssesssssssnsseemsasesssnssssssessssesseseenssemesseees 9
A.3.3 ANBRINGEN DER WERKZEUGE UND WERKZEUGTRAGER .......ooveveeeeeeeeverersseeesseessssessoseesons 10
A.3.4 EINSTELLEN DER INKREMENTIERUNG.........cooeeueeeeerssesssssssssmsmssnssasesssesssssssessessssessesseseneesens 11
A.3.5 BEARBEITUNG.........cooeovsteesesensresssssssssessssssessssssssssssesssesssensesssensesssessesessssessassssseseesemsmsemes s enesens 1
A.3.6 ENTFERNEN DER MASCHINE ..........coooovvesueeriernssssssssssssssssssssssssenssssssssssessssasesssssensessssssessssssases 12
A4 INFORMATIONEN ZUM FILTER UND OLER .....oocueereeereeeseeeesssmsemssssssmsssessesmsssesssessssessssesesssseses 12
A5 WARTUNG ....coctirciniesinsesct st sssst s s ssss s s s sas s st s ssessas e s s e s mssesesee e mse s e enee e se e s ens 13
ABT  DRUCKLUF TMOTOR, o vossuonsssssninsinisisassnisss oisissivasssiissssssss ssisisssasiississess isissesissoissasmmmmmmeamseanmssmensee 15
A8.2  ELEKTROMOTOR..xuuswoussssssvissasssssississsss o iessssisisisasasnssssssnsanssasss soosesesessmos orssossasasasadsestonssscassiniss 15
A.5.3 ANTRIEB DER MOTOREN .......coeureerereerssssssssssssssssssssssssessssssessssnsssssessenssssssssasensssssessesssensesmsenssses 15
A.6  FUNKTIONSSTORUNGEN ......c.cvuetmrmrsirssssnsssesssessessessasssssnssssssssssesssssssessensessessessessesesssssssssessessenns 16
PUOT  ANTRIEB . icis500v 5505 msx 6858554555545 855 5555734 5945 5434 am a9 m88 208 S e S P om s i A RS 16
ALB.2  MASCHINE ....ovvrsrssresssessesenssssessssessessasesssssssssssssssssssassssssessasessessasesssssssssssssssssessensssesssssssesmsssessases 16
AT STANDARDWERKEZEGE osusiosusisssssssioiseesisisssiosss ks aisssssivcss sssssssss esssssssonssnsnseasmasssasasnossacs 17
A.8 TABELLE DER SPANNBACKEN...........ccoeceeesrueessessesssssssessssssessssssssssensesssssssmsassssmsasessssasssssasenssses 18
A.9 EXPLOSIONSZEICHNUNGEN UND STUCKLISTEN DER MASCHINE TTSNG (09/15) .............. 20
A.10 KLAMMERSPANNBACKEN UND SONDERAUSSTATTUNG FUR AUFTRAG 22-STD-12/16.. 32
L o - = 38

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé 4 tiers sans I'accord écrit préalable de PROTEM.,
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlielich die Lieferbedingungen des Verkaufers.




PROTEM SAS PROTEM GmbH
Z| les Bosses .—-‘ = Am Hambiegel 27
s oyt | N { PROTEM Ec Tol 505 7267 9300
el: S hed el:
Fax: 0033 (0) 47557-4149 o || Fax 0049 (0) 7247 9393-33
& www. protem.fr A CUT ABOVE THE REST 1SO 9001 a,\(mrww.Erogte)m'l-gmbh.t:he
TTSNG 88_22STD1216_Rev A 230217 3/38

A. DEUTSCH

Die Angaben Uber das in dieser Bedienungs- und Wartungsanleitung beschriebene Geréat kénnen ohne
vorhergehende Bekanntmachung geéndert werden. Auch die technischen Daten des Gerats kénnen sich
andern, weiter entwickeln oder aktualisiert werden.

Dieses Dokument ist das Eigentum von PROTEM und darf ohne vorherige schriftliche Zustimmung von
PROTEM nicht korrigiert, veréndert oder vervielfaltigt werden.

Dieses Dokument soll in volistandiger Weise auf die wichtigsten Sicherheitsvorschriften bei der
Anwendung des Geréts hinweisen. Der Inhalt dieses Dokuments ist kein Ersatz fiir die im jeweiligen
Arbeitsbereich geltenden Sicherheitsvorschriften des Arbeitsrechts, die jeder Anwender zu beachten hat.

A.1 KAPITEL SICHERHEIT

A\ won

Eine FALSCHE oder NICHT BESTIMMUNGSGEMASSE Anwendung dieser Maschine kann zu schweren
Kérperverletzungen fiihren!

Diese Bedienungsanleitung enthalt wichtige Informationen tber die einzuhaltenden
Sicherheitsvorschriften. Bitte lesen Sie diese Anleitung VOR Anwendung des Geréts aufmerksam durch.
Behalten Sie diese Anleitung auch fiir andere Anwender griffbereit, damit auch sie sich mit den
Sicherheitsanweisungen vertraut machen kénnen. Dieses Handbuch muss an einem sicheren Ort in der
Nahe des Gerats und fir jeden Anwender zugénglich aufbewahrt werden.

SICHERHEITSVORSCHRIFTEN . .
LESEN SIE ALLE HINWEISE UND ANLEITUNGEN FUR DIE ANWENDUNG, BEVOR SIE DAS GERAT
IN BETRIEB NEHMEN BZW. BEVOR SIE ES REINIGEN ODER WARTUNGSEINGRIFFE DARAN
AUSFUHREN:

WARNUNG:

Immer alle VorsichtsmaBnahmen treffen, um moglichst sdmtliche Verletzungsgefahren zu
vermeiden.

Bitte beachten Sie insbesondere folgende Sicherheitsvorschriften:

1. Achten Sie darauf, dass Ihr Arbeitsbereich sauber und sicher ist.

2. BEVOR SIE IHR GERAT IN BETRIEB NEHMEN, IMMER DIE SCHLUSSEL ABZIEHEN. Immer
vor der Inbetriebnahme dberprifen, dass die Schliissel abgezogen sind.

3. AGGREGAT UND ARBEITSBEREICH IMMER SAUBER HALTEN. Um Verletzungsgefahren zu
vermeiden, mussen der Arbeitsbereich bzw. die Werkbank, auf der Sie arbeiten, immer
aufgeraumt und sauber gehalten werden.

4. DIE MASCHINE NIE IN EINER GEFAHRLICHEN UMGEBUNG BENUTZEN. Die Maschine nie
in einer feuchten oder nassen Umgebung oder im Freien bei Regen benutzen.

5. VERHINDERN SIE, DASS KINDER ODER UNBEFUGTE PERSONEN ZUGRIFF ZUM
ARBEITSBEREICH HABEN. Unbefugten den Zugang zum Arbeitsbereich verbieten
(insbesondere Kindern). Die Maschine immer ausschalten und den Netzstecker herausziehen,
wenn Sie sich vom Arbeitsbereich entfernen und dafiir sorgen, dass niemand zum Arbeitsbereich
Zugang hat.

6. FORCIEREN SIE NICHTS. Ihr Gerat wird weit effizienter und hochwertiger arbeiten, wenn Sie es
entsprechend den Anwendungsbedingungen und bestimmungsgema&R benutzen.

7. VERWENDEN SIE IMMER GEEIGNETE WERKZEUGE. Verwenden Sie niemals ein Werkzeug
oder Zubehér fiir eine Arbeit, fir die es nicht vorgesehen ist.

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum van PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schrifiche Einverstandnis von PROTEM. Es gelten ausschlielich die Lieferbedingungen des Verkéufers




PROTEM SAS PROTEM GmbH

<l.io6 Hosses el afag Am Hambiegel 27
wae |\ PROTEM | EC €= | i,
Fax: 0033 (0) 47557-4149 . ool | | Fax: 004 (0) 7247 9393-33

www.gzotem‘fr A CUT ABOVE THE REST 1SO 9001 ﬂ,\‘nmwgn(:t;m-gmbh.de

TTSNG 88_225STD1216_Rev A_230217 4/38

A®

8. TRAGEN SIE EINE GEEIGNETE KLEIDUNG. Tragen Sie nie weite Kleidung, Krawatte, Ringe,
Armbander oder anderen Schmuck. Er kénnte sich in sich drehenden Teilen verfangen oder
einklemmen. Tragen Sie immer Sicherheitsschuhe mit einer rutschfesten Sohle und Stahlkappen.
Tragen Sie einen Helm, der insbesondere lange Haare abdeckt und den Kopf schiitzt.

9. TRAGEN SIE IMMER EINE SCHUTZBRILLE, UM JEDE VERLETZUNGSGEFAHR FUR DIE
AUGEN ZU VERMEIDEN. Eine normale Sehbrille gewahrleistet keinen ausreichenden Schutz.
Aulerdem sollten Sie eine Schutzmaske tragen, um ihr Gesicht vor Staub zu schiitzen, wenn der
Arbeitsbereich Staub, Sand oder anderen Schmutzteilchen ausgesetzt ist, die den Anwender
behindern kénnen.

10. BEUGEN SIE SICH NICHT ZU STARK. Behalten Sie beim Arbeiten immer Ihr Gleichgewicht.

11. PFLEGEN UND WARTEN SIE IHRE GERATE SORGFALTIG. Durch saubere und gut
geschliffene Werkzeuge kénnen die Arbeits- und Sicherheitsbedingungen der Anwender optimiert
werden. Beachten Sie immer die Schmierintervalle und die Intervalle fiir das Auswechseln von
Zubehor.

12. ZIEHEN SIE IMMER DEN NETZSTECKER HERAUS, wenn Sie ein Gerat warten oder
Schneidewerkzeuge bzw. Zubehér auswechseln.

13. DARAUF ACHTEN, DASS SICH DAS GERAT NICHT VERSEHENTLICH EINSCHALTEN
KANN. Immer Uberpriifen, dass der Schalter auf AUS ist, bevor Sie den Netzstecker wieder ans
Netz anschlieBen.

14. NUR FUR DAS GERAT EMPFOHLENES ZUBEHOR VERWENDEN. Die Beschreibung der
empfohlenen Werkzeuge kénnen Sie der Bedienungsanleitung entnehmen. Um jegliche
Verletzungsgefahr zu vermeiden, ausschliellich das empfohlene Zubehér verwenden.

15. NIE AUF DAS GERAT TRETEN. Um schwere Verletzungsgefahren zu vermeiden, das Gerét
nicht schrag halten und das Schneidewerkzeug nicht versehentlich beriihren.

16. VOR EINER ANWENDUNG IMMER UBERPRUFEN, DASS KEIN TEIL AN DER MASCHINE
BESCHADIGT IST. Vor einer Anwendung immer (iberpriifen, dass keine Komponenten der
Maschine beschadigt sind. Uberpriifen Sie, dass alle beweglichen Teile richtig ausgerichtet und
nicht verzogen sind bzw. keine anderen Defekte aufweisen, die eine ordnungsgeméRe Funktion
beeintrachtigen kénnten. Vor der Anwendung der Maschine beschédigte Teile immer reparieren
oder auswechseln.

17. VOR DER ANWENDUNG IMMER DIE DREHRICHTUNG DES WERKZEUGTRAGERS
UBERPRUFEN. )

18. SICH NIE VON DER MASCHINE ENTFERNEN, WENN SIE IN BETRIEB IST. DAS GERAT
AUSSCHALTEN. Sich nicht von der Maschine entfernen, solange sie nicht volisténdig stillsteht.
Immer den Netzstecker aus der Steckdose herausziehen, wenn Sie die Maschine nicht benutzen.

19. Die Maschine ist nicht fir einen Serienbetrieb vorgesehen.

20. Fur Reparaturen ausschlieBlich von PROTEM zugelassene Ersatzteile verwenden.

21. Das Gerat immer mit der richtigen Stromspannung und -stérke versorgen. Eine falsche
Stromspannung oder Stromstarke kénnte zu einem fehlerhaften Betrieb der Maschine und zu
Verletzungsgefahr oder schweren Sachschaden filhren.

22. In keinem Fall versuchen, Schlitten und/oder Schnittwerkzeuge zu beriihren, solange die
Maschine nicht vollstandig zur Ruhe gekommen ist und jede Energieversorgung unterbrochen
wurde bzw. mit einem Not-AUS angehalten wurde (je nach Modell der Maschine).

23. DAS TRAGEN VON HANDSCHUHEN IST VORSCHRIFT. FOLGENDE VORSCHRIFTEN
UNBEDINGT LESEN UND EINHALTEN:

-selbst wenn Sie Schutzhandschuhe tragen, dirfen Sie die Schneidklingen der Werkzeuge nicht
beriihren.

- selbst mit Schutzhandschuhen ist das Entfernen von Sp&nen mit den Handen streng verboten
(die Spéne schneiden extrem und sind brennend heil%). Zum Entfernen der Spiéne eine geeignete
Zange oder einen Spanehaken verwenden. Die Spane nur entfernen, wenn die Maschine
ausgeschaltet ist.

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé 4 tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfdltigt oder verandert werden, ochne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlietlich die Lieferbedingungen des Verkéufers




PROTEM SAS

PROTEM GmbH

Z! les Bosses sy 1 Am Hambiegel 27
F-26800 Etoile sur Rhone (R CEFRI D-76706 Dettenheim
Tel.: 0033 (0) 47557-4141 / 4 e Tel.: 0049 (0) 7247 9393-0
Fax: 0033 (0) 47557-4149 - - L Fax: 0049 (0) 7247 9393-33

www.protem fr A CUT ABOVE THE REST 1ISO 9001 www.protem-gmbh.de

TTSNG 88 _22STD1216_Rev A_ 230217 5/38

24. Immer richtige Halterungen vorsehen, um fiir lange oder schwere Teile einen stabilen Halt zu
gewdhrleisten.

Besondere Sicherheitsvorschriften fiir diese Maschine:

1. Vor einer Anwendung immer die Bedienungsanleitungen lesen und sich mit den
Sicherheitsvorschriften vertraut machen.

2. Tragen Sie immer passende Schutzkleidung und Sicherheitsschuhe (vorzugsweise mit einer
Stahlsohle), sowie eine Schutzbrille und einen Schutzhelm.

3. Die Maschine immer mit Vorsicht handhaben. Wenn die Maschine herunterfallt oder mit einem
harten Gegenstand zusammenprallt, kann sie Spriinge bekommen oder andere Schaden
erleiden.

4. Wenn Sie etwas Ungewdhnliches feststellen, sollten Sie den Betrieb der Maschine immer sofort
einstellen.

5. Vor dem Betrieb der Maschine immer tUberpriifen, dass alle Teile richtig montiert und befestigt

sind.
Das Gerat immer ausschalten und warten, dass sich das Schneidewerkzeug nicht mehr dreht,
bevor Sie ein Teil auswechseln oder eine Einstellung vornehmen.
Bevor Sie das Gerat fir eine neue Bearbeitung verwenden, immer einen Test machen.
Das Gerat immer mit Vorsicht handhaben, wenn Sie es montieren oder demontieren.
Die Hande immer vom Schneidewerkzeug fernhalten.
. Das Geréat regelmé&Rig Gberprifen.
. Vor der Inbetriebnahme immer tiberpriifen, dass die verwendeten Anschlusskabel dem
Stromnetz entsprechen.

12. ACHTUNG: Immer geeignete Mittel fir das Handling verwenden. Es ist strengstens verboten,
das Gerét fir nicht bestimmungsgemaRe Elemente zu verwenden (wie z. B. Rohre oder andere
Elemente).

o

a0~
o 0o

DINGE, DIE SIE VERMEIDEN SOLLTEN:
FUR EINE SICHERE ANWENDUNG BEACHTEN SIE BITTE FOLGENDE VORSCHRIFTEN:

1. Vor der Anwendung des Geréats sicherstellen, dass der Inhalt dieser Bedienungsanleitung richtig

verstanden wurde.

Sich nie vom Gerat entfernen, ohne den Netzstecker aus der Steckdose zu ziehen.

Benutzen Sie das Gerét nicht, wenn Sie miide sind oder vorher Medikamente eingenommen oder

Alkohol getrunken haben.

Das Gerét nur fir eine bestimmungsgemé&Re Anwendung nutzen.

Benutzen Sie das Gerat nicht, wenn Sie weite Kleidung, eine Krawatte oder Schmuck tragen

oder wenn Sie keinen Schutzhelm tragen.

Halten Sie lhre Hande vom Schneidewerkzeug fern.

Beriihren Sie keine beweglichen Teile oder die Schneidewerkzeuge wahrend des Betriebs des

Gertdts.

In keinem Fall die Sicherheitsvorrichtungen entfernen.

Achten Sie darauf, dass die Stromkabel nicht beschédigt werden.

0. Bewegen Sie das Gerét nicht, wenn es an das Stromnetz angeschlossen ist und Sie den Finger
auf den EIN/AUS-Schalter haben.

11. Das Gerét nicht benutzen, wenn der EIN/AUS-Schalter nicht richtig funktioniert.

wn

No ok~

= 0o

BEWAHREN SIE DIESE ANLEITUNGEN GUT AUF
UND
STELLEN SIE SIE ALLEN ANDEREN BENUTZERN ZUR VERFUGUNG

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans l'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftiiche Einverstandnis von PROTEM. Es gelten ausschiieBlich die Lieferbedingungen des Verkaufers




PROTEM SAS
Z| les Bosses

Fax: 0033 (0) 47557-4149

—
F-26800 Etoile sur Rhone /
Tel.: 0033 (0) 47557-4141 /

A CUT ABOVE THE REST

=Ce~—
Liso vout] CEFRI
|

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim

Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33

www.protem. fr 1SO 9001 www.protem-gmbh.de
TTSNG 88 _22STD1216_Rev A_230217 6/38
A.2 BESCHREIBUNG
A.2.1 Abmessung
Gilltig fur die Standardausfilhrung ohne Optionen
Modelle mit Optionen siehe beiliegende Skizzen
F
RS
¢ 'S
o
nqw
L @
|
LA B
E
Modell GroRe | @A | B Cc D G aJ K Gewicht | E F H E F' H'
mm |mm| mm [mm| mm mm mm | ca.kg) | mm| mm mm | mmj{| mm| mm
(ohne
Motor)
TTSNG27 |1/8"-3/4"| 30 |106| 100 | 86 [ 81,5 175 154 4 97,5| 1355 | 175,5 | 156 | 194 | 3685
TTSNG33 [1/8"-1" 36 [112| 103 | 86 | 84,5 181 160 45 97,51 1355 | 178,56 | 156 | 194 | 371,5
TTS NG 42 |1/8"- 45 [ 121]| 1075 | 74 89 187 169 5 855| 123,56 | 183,5 | 156 | 194 | 376
1"1/4
[TTS NG 48 1/8"- 51 | 127 | 1105 | 74 92 194 175 55 855( 1235 | 186,5 | 156 | 194 | 379
1"1/2
TTSNG60 |¥%"-2" 63 | 139 116,5 | 74 98 206 187 58 |855] 1235 | 1925 | 156 | 194 | 385
TISNG73 |%"-2"1/2| 75 | 151 | 1225 | 74 104 | 2235 | 199 6 86,5| 123,5 | 1985 | 156 | 194 | 391
TTSNG88 |1"-3" 90 [166| 130 [ 74 | 111,56 | 232,5 | 214 6 855 123,65 | 2055 | 156 | 194 | 412
TTS NG 101 |1"1/2- 105 | 181 | 137,5 | 74 119 | 250,5 | 229 7 855 123,56 | 213 | 156 | 194 | 406
3"1/2
TTS NG 114 |2"4" 117 | 193 | 1435 | 74 | 125 | 2595 | 241 75 855 1235 | 219 | 156 | 194 | 412
TTS NG 127 |2"-4"1/2 | 129 | 205 | 1495 | 74 | 131 271,5 | 253 8 855 1235 | 225 | 156 | 194 | 418
TTS NG 141 [2"1/2-5" | 144 | 220| 157 | 74 | 138,5 | 286,5 | 268 9 85,5| 123,65 | 232,56 | 156 | 194 | 4255
TTS NG 168 | 3"-6" 171 | 247 | 1705 | 74 152 | 351,5 | 330 11 855| 123,5 | 2655 | 156 | 194 | 439
TTS NG 193 | 4"-7" 195 | 271 | 1825 | 74 164 | 3755 | 354 12 855| 123,56 | 277,56 | 156 | 194 | 451
TTS NG 219 | 5"-8" 222 1298 196 | 74 | 177,56 | 402,5 | 381 13 855 1235 | 291 | 156 | 194 | 464,5

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified

without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.

Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informalions sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables  titre exclusif.

Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,

vervielfditigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkéufers




PROTEM SAS PROTEM GmbH
. 2685} 'Ieifu EossesRh il ofa0 ] Am Hambiegel 27
- e sur Rhone Y | D-76706 Dettenhei
Tel.: 8033 (0) 47557-4141 \ / PROT EM GCE.FR| Tel.: 0049 (0) 72:'; gaalrgns_o
Fax: 0033 (0) 47557-4149 ¥ ey | D 3 Fax: 0049 (0) 7247 9393-33
www.protem.fr A CUT ABOVE THE REST 1SO 9001 l www.protem-gmbh.de
TTSNG 88_22STD1216_Rev A_230217 7/38
*Motor Gekw‘;cht
Druckluftmotor mit Winkelgetriebe MO10 3
Druckluftmotor MO10 2
Elektromotor mit Winkelgetriebe MS10 45
1050W :
Elektromotor MS10 1050W 3.5

A.2.2 Funktionen

Diese Maschine wird fiir Rohre aller Arten mit kleinem Durchmesser (bis zu 220 mm) verwendet,

Zum:

- Trennen

- Trennen und Anfasen
- Abkanten (optional)

A.2.3 Technische Daten

- Schnittgeschwindigkeit:
- Vorschubgeschwindigkeit:

zwischen 8 und 12 m/Min je nach Rohrdurchmesser.
1 Zahn pro Umdrehung = 0,04 mm/Maschinendrehung.
2 Zzhne: 0,08 mm/U

- Standardpneumatikmotor MO10 Untersetzung 9/12

- Leistung

- Leerlaufdrehzahl

- Nenndrehzahl
- Betriebsdruck
- Luftverbrauch

- Elektromotor MS10 Untersetzung 9/12

- Leistung

1PS

316 UMin (237 U/Min mit Winkelgetriebe RA20)
155 U/Min (116 U/Min mit Winkelgetriebe RA20)

6 bar (Achtung: in keinem Fall 7 bar iberschreiten)
1400l/Min

1050W

- Leerlaufdrehzahl zwischen 273 und 711 U/Min (zwischen 178 und 534 U/Min mit RA20)
- Stromversorgung
- Pneumatikmotor M05 Untersetzung 9/4

- Leistung

- Leerlaufdrehzahl

- Nenndrehzahl
- Betriebsdruck
- Luftverbrauch

110 oder 220V

0,5PS

360 U/Min

169 U/Min

6 bar (Achtung: in keinem Fall 7 bar Gberschreiten)
3501/Min

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller
Les informations contenues dans ce document sont susceptibles de medifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans I'accord écrit préalable de PROTEM.

Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.

Anderungen der technischen Daten vorbehalten. Der inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
verviglféltigt oder veréindert werden, ohne das vorherige schriffliche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkéufers




PROTEM SAS
Z| les Bosses
F-26800 Etoile sur Rhone

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim

— )
Tel.: 0033 (0) 47557-4141 \ / PROTEM . SRR Tel.: 0049 (0) 7247 9393-0
Fax;: 0033 (0) 47557-4149 e - || Fax: 0049 (0) 7247 9393-33
0as10) J1oor: A CUT ABOVE THE REST 1SO 9001 ]
TTSNG 88_22STD1216_Rev A_230217 8/38
A.3 ANWENDUNG
A.3.1 Anwendungshinweise
Rep.4 Rep.O Rep.P Rep.2 Rep.3 Rep.7 Rep.6 Rep.5

| S—_ap——

Die Maschine besteht aus einem festen (Pos. P) und einem sich drehenden Teil (Pos. O).
Zum Montieren auf das Rohr 6ffnet sich die Maschine in zwei Halbschalen. Diese werden durch ein

Gelenk zusammengehalten.

Der feste Teil wird am Rohr festgeflanscht.
AnschlieRend wird die Maschine durch vier Spannschrauben am Rohr verriegelt (Pos. 2).

Am sich drehenden Teil sind die Werkzeugtragerschlitten (Pos. 3) angebracht.
- Sie werden durch ein R3derwerk mit zwei halben Zahnkridnzen und einem Antriebsritzel

angetrieben.

- Die Messer werden durch Inkrementieren des Sternrads (Pos.4) vorangetrieben, das bei jeder
Drehung durch den einklappbaren Finger (Pos.5) der Kupplungsvorrichtung (Pos. 6) angetrieben

wird.

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans I'accord écrit préalable de PROTEM.

Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.

Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfalligt oder verandert werden, ohne das vorherige schriffiiche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkéufers



PROTEM SAS

Z| les Bosses
F-26800 Etoile sur Rhone
Tel.: 0033 (0) 47557-4141
Fax: 0033 (0) 47557-4149

www.Erotem.fr

e

9

PROTEM

A CUT ABOVE THE REST

afag

|
GG.E_EPH

" 1S0 9001

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim
Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33

www.grotem-gmbh.de

TTSNG 88_225TD1216_Rev A_230217

9/38

A.3.2 Inbetriebnahme

A

Achtung: Wichtig fiir die Beriicksichtigung der Garantie

Bitte senden Sie beiliegendes Formular (Fragebogen) innerhalb eines Monats nach Erhalt
zuriick. Ohne ein vollstandig ausgefiilltes Formular kénnen keine Gewahrleistungsanspriiche
geltend gemacht werden.

Inbetriebnahme

[iJ

10.

(i)

12.

Die Maschine kann auf zwei verschiedene Arten angewendet werden:

» An einem offenen Rohr mit Anbringen der Maschine am Rohrende.

» An einem geschlossenen Leitungssystem (zur Reparatur z. B.). In diesem Fall muss
die Maschine in zwei Teile getffnet werden, um sie um das Rohr herum anbringen
zu kénnen.

Die Schlitten (Pos. 3) miissen zuriickgefahren sein.

Die Auflagefldchen des sich drehenden Teils (Pos. O) und des festen Teils (Pos. P) missen sich in

derselben Ebene F befinden, um die Maschine, falls erforderlich, in 2 halbe Abschnitte zu 6ffnen.

Die 4 Spannschrauben der Backen (Pos.2) miissen gelockert sein.

Uberpriifen, ob die zwei roten Klemmschrauben (Pos.7) vorhanden sind, um die sich drehenden

Teile (Pos.O) in Bezug zum festen Maschinengehause (Pos. P) zu fixieren.

Die 4 Montageschrauben der festen Elemente (P) losen.

Die 2 Montageschrauben der sich drehenden Elemente (O) Iésen.

Sicherstellen, dass die Auflageflachen in derselben Ebene liegen, um die Maschine éffnen zu

kénnen.

Nach Offnen der Maschine sie am Rohr anbringen.

Die Maschine schlieBen und dabei sicherstellen, dass die Zentrierbuchsen der Teile richtig

angeordnet sind und dass sich kein Fremdkd&rper auf den Auflageflichen befindet.

Die 6 Schrauben der festen und sich drehenden Elemente fest anziehen. ACHTUNG: Nicht

vergessen, die roten Schrauben (Pos. 7) zu entfernen.

11.  Wichtig: Blockieren Sie die 4 Klemmschrauben der Backen und achten Sie dabei darauf,
auch die um 180° entgegengesetzten Schrauben gleichzeitig anzuziehen, um ein
konzentrisches Anziehen zu gewdhrleisten. Um prézise zu arbeiten, solliten Sie ein
Tiefenmall verwenden, um zwischen dem Innendurchmesser der Maschine und dem
AuBendurchmesser des Rohrs zu messen.

Ziehen Sie dann die 4 HC-Schrauben zum Stabilisieren des Gerats auf der festen Halfte an (unter

den Klemmschrauben der Backen).

Nach dem Fixieren des Geréts auf dem Rohr missen Sie sich vergewissern, ob sich die bewegliche
Halfte normal dreht (keine schwergéngige Stellen bei demontiertem Motor).

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.

Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété

de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans l'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables & titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlielllich die Lieferbedingungen des Verkéufers



PROTEM SAS PROTEM GmbH

Zl les Bosses el Fa — Am Hambiegel 27
F-26800 Etolle sur Rhone i bzl Pm— D-76706 Dettenheim
Tel.: 0033 (0) 47557-4141 / 0 == Tel.: 0049 (0) 7247 9393-0

T™T; " |

Fax: 0033 (0) 47557-4149 - Fax: 0049 (0) 7247 9393-33
BKLOOBEM) doa A CUT ABOVE THE REST 1SO 9001 R
TTSNG 88_22STD1216_Rev A_230217 10/38

A.3.3 Anbringen der Werkzeuge und Werkzeugtrdager

- Je nach gewéhlter Bearbeitungsart (Schneiden / Schneiden und Anfasen) die Werkzeuge in den
Werkzeugtrégern anbringen. Die Werkzeuge mit einem 3 mm Sechskantschliissel spannen.

- Die Werkzeugtrager auf dem Werkzeugtrégerteller der Maschine anbringen und mit einem 4 mm
Schliissel befestigen (2x2 Befestigungsflansche).

Achtung: Wenn die Maschine zum Bearbeiten eines Rohrs verwendet wird, dessen
AuRendurchmesser sich dem maximalen Durchmesser der Maschine ndhert, miissen sich die
Schlitten in maximal zuriickgefahrener Position befinden. Um einen festen Sitz der Werkzeugtrager
auf dem Werkzeugtragerteller zu gewahrleisten, mussen die Befestigungsflansche in jedem Fall
entsprechend der nachfolgenden Abbildungen angebracht werden.

Befestigungs-
flansch (x4)

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Andarungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielféltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlieltlich die Lieferbedingungen des Verkaufers.




PROTEM SAS PROTEM GmbH
Z| les Bosses —‘4 ] Am Hambiegel 27
s | U/ PROTEM e | STt
el: bt ~TTT | =t=t"h el.: -
Fax: 0033 (0) 47557-4149 / A CUT ABOVE THE REST A L ‘ } Fax: 0049 (0) 7247 9393-33
| www.protem.fr 1SO 9001 www.protem-gmbh.de |
TTSNG 88_22STD1216_Rev A_230217 11/38

A.3.4 Einstellen der Inkrementierung

Hinweis: Wenn lhre Maschine Werkzeugtragerschlitten mit einem Hub von 30mm bzw. 50mm hat, muss
der unten abgebildete Klotz Pos. 16 verwendet werden, damit fur das Hin- und Herfahren der Schilitten im
Bereich der Kupplung ausreichend Platz vorhanden ist.

Die Hohe der Kupplungsvorrichtung in Bezug zur Oberseite des Tellers bestimmt den Vorschub.

Je nach Dicke und Werkstoff des zu bearbeitenden Rohrs den Vorschub auf 1 oder 2 Zdhne einstellen.
Im Aligemeinen empfehlen wir fiir Schneide- und Abfasvorgénge und fiir gerade Scheidevorgénge (bei
Rohrstérken von mindestens 5 mm) einen Vorschub von 1 Zahn.

Zum Einstellen jeweils nur einen Schilitten langsam vor den Finger fahren. Es ist mdglich, an einem der
Finger eine Markierung zu machen, um den Vorschub visuell zu Giberpriifen.

7

Fur eine gute Bearbeitung miissen die Spane zwischen dem Vor- und Nachschneider ausgeglichen
werden.
Die Spanemenge beider Werkzeuge muss gleich sein.

Bei Bedarf kann man wahrend des Schneidens auf den Kupplungsfinger einwirken, um eins der
Werkzeuge eine Runde aussetzen zu lassen und ihre relative Position zueinander auszugleichen.

A.3.5 Bearbeitung

Einschalten
13.  Motor fixieren, den Driickergriff betatigen und tiberpriifen, ob sich der Werkzeugtragerteller normal

dreht.
‘*— Hebel

\ \
\ " <)
\ )

<

Hinweis;

Der Driickergriff ist ein Sicherheitselement. Durch
diesen Sicherheitsgriff lisst sich jegliche
unbeabsichtigte Inbetriebnahme durch den

Bediener vermeiden. Zum Einschalten des bzw.

der Druckluftmotors/en den Sicherheitsgriff £

entriegeln und auf den Hebel driicken. Die I_ T i
Sicherheitsfunktion des Griffs darf nicht . \
umgangen werden, indem der Griff entfernt wird " ~
oder eine andere Versorgungsvorrichtung Drilckergriff
verwendet wird.

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftiiche Einverstandnis von PROTEM. Es gelten ausschlieilich die Lieferbedingungen des Verkéufers



PROTEM SAS PROTEM GmbH

Z| les Bosses el = A | Am Hambiegel 27
F-26800 Etoile sur Rhone atag CEFRI D-76706 Dettenheim
Tel.: 0033 (0) 47557-4141 / ST Tel.: 0049 (0) 7247 9393-0

Fax: 0033 (0) 47557-4149 - I I Fax: 0049 (0) 7247 9393-33
S Sralart A CUT ABOVE THE REST 1ISO 9001 Ay DrOE AR e

TTSNG 88_22STD1216_Rev A_230217 12/38

14.  Die Werkzeugtragerschlitten positionieren und, wenn erforderlich, die Héhe des
Kupplungsfingers justieren, um den pro Umdrehung gewiinschten Vorschub zu erzielen
A (siehe Abschnitt "Einstellungen").
Darauf achten, dass die beiden Schlitten die gleiche radiale Position haben (die
Zahnrader missen auf demselben Durchmesser sein wie der Kupplungsfinger).

15.  Die Schneidwerkzeuge einstellen und den ausriickbaren Finger (Pos. 5) ausriicken.

16.  Drehung stoppen, das schmale Werkzeug bis auf 2 mm dem Rohr nihern, einschalten und Finger
einrticken.

17.  Wenn das schmale Werkzeug am Rohr anliegt, die Drehung stoppen. AnschlieRend das breite
Werkzeug an der gleichen Stelle wie das schmale Werkzeug zum Anliegen bringen, dann um 0,5
mm zurlickschieben (d. h. eine 2/3 Drehung des Zahnrads in Uhrzeigerrichtung).
Fir Einstellungen wéhrend des Schneidens siehe Abschnitt "Bearbeitungsgrundsétze”

Hinweis: Wenn sich beim Schneiden ein zu grofer Kraftaufwand erkennbar macht: Finger
ausricken und dann wieder einriicken, wenn das Drehen wieder normal geworden ist.
Wenn die Stérung anhélt, die Schnittkante der Werkzeuge iberpriifen. Uberpriifen Sie auch
den konstanten Vorschub der Schiitten um 1 Zahn bzw 2 Zihne' sowie die relative Position der
zwei Werkzeuge.
o Beim Schneiden wird empfohlen, das Schneidwerkzeug zu schmieren bzw. das Werkzeug mit Ol
Wasser oder Druckluft zu kiihlen.

Anhalten der Maschine
Auskuppeln, das Werkzeug zurtickfahren lassen (2 Leerumdrehungen) und die Druckluft abschalten.

A.3.6 Entfernen der Maschine

- Schieben Sie die Werkzeugtragerschlitten zuriick und entfernen Sie die Spane.

- Den festen und beweglichen Maschinenteil auf einer Ebene anbringen.

- Die 2 roten Schrauben festziehen.

- Die Klemmschrauben der Backen sowie die Befestigungsschrauben der festen Teile lockern.

- Offnen Sie die Maschine und reinigen Sie sie (siehe Kapitel "Wartung")

A.4 INFORMATIONEN ZUM FILTER UND OLER

Der Schmierélstand des Filters muss regelmaBig kontrolliert werden. Vor jedem Nachfiillen von Ol muss
der Filter aus der Luftleitung herausgenommen und der Druck abgelassen werden.

Empfohlenes Ol:
- PROTEM: Schmierél fiir Filter und Oler (Art. F-Lub-0,5-L)
- TOTAL: AZOLLA Z5-22
- ESSO: ESSTIC 42
- SHELL: TELLUS 27
- BP: ENERGOL HL 85

Die OImenge wird mit dem Tropfenzéhler justiert. Wir empfehlen die Anwendung von 3 bis 5 Tropfen pro
Minute.

Der Wasserabscheider muss regelméRig kontrolliert und Giber den Ablassstopfen entleert werden.

Die Behalter fir Ol und Wasser miissen mit Wasser und Seife gereinigt werden. Verwenden Sie zum
Trocknen dann Druckluft. Es dirfen keine Lésungsmittel und abrasive Reinigungsmittel verwendet
werden, da diese die Behdlter zerstéren wiirden.

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriffiiche Einverstédndnis von PROTEM . Es gelten ausschlieRlich die Lieferbedingungen des Verkéufers




PROTEM SAS PROTEM GmbH
Zl les Bosses — """' Am Hambiegel 27

F-26800 Etoile sur Rhone ‘ |CEFRI D-76706 Dettenheim
Tel.: 0033 (0) 47557-4141 iR

Tel.: 0049 (0) 7247 9393-0

Fax: 0033 (0) 47557-4149 = o ] Fax: 0049 (0) 7247 9393-33
www.protem. fr A CUT ABOVE THE REST 1SO 9001 a,:vww.prt(atgm-gmbh.de
TTSNG 88_22STD1216_Rev A_230217 13/38

A.5 WARTUNG

KUNDENDIENST UND REPARATUR:

Dieses Gerat kann eine Reparatur bzw. ein Auswechseln von gewissen Ersatz- oder Verschleilteilen
erfordern. Das Auswechseln ist auf einen normalen Verschleil dieser Teile zuriickzufithren. Um zu
gewshrleisten, dass nur zugelassene Ersatzteile verwendet werden, sollten Sie alle Wartungsarbeiten
(auRer tagliche Standardarbeiten) ausschlielich PROTEM-Technikern anvertrauen.

Fiir Reparaturen und Wartungseingriffe dirfen ausschlieflich die Original-Ersatzteile des Herstellers
verwendet werden.

HINWEIS:

Die Informationen, technischen Daten und Empfehlungen in dieser Anleitung kénnen ohne
vorherige Ankiindigung geéindert werden. Bitte fragen Sie mindestens einmal im Jahr bei unserem
Kundendienst nach eventuell geéinderten oder upgedateten Anleitungen nach.

Nach jeder Bearbeitung die Maschine mit Druckluft reinigen.
Auf die Sauberkeit der Werkzeugtréger achten. Bei Bedarf miissen Sie diese demontieren, reinigen und
schmieren.

Empfohlenes Schmiermittel:
-~ Esso Beacon EP 2 oder gleichwertig

Maschine und Zubehér miissen immer im Original-PROTEM-Werkzeugkasten aufbewahrt und
transportiert werden.

Die Anwendung von Werkzeugen mit unzuldssigen oder ungeeigneten Schneideklingen bzw. die
Anwendung von Werkzeugen, die nicht von PROTEM geliefert werden, kann nicht nur die Leistungen der
Maschine stark beeintrchtigen, sondern auch ihre Funktion und zur Aufhebung der PROTEM-
Herstellergarantie fihren.

Die Lebensdauer Ihrer Maschine ist erheblich eingeschrénkt, wenn Spane oder andere Fremdkdrper
wihrend der Bearbeitung in die Maschine eindringen und diese nicht durch ein fein séuberliches
Reinigen (mit einem Pinsel) entfernt werden.

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans |'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlielich die Lieferbedingungen des Verkaufers



PROTEM SAS

PROTEM GmbH

Zl les Bosses e — Am Hambiegel 27
F-26800 Etoile sur Rhone \ ‘ PROT E M pa— D-76706 Dettenheim
Tel.: 0033 (0) 47557-4141 - 1-a) Tel.: 0049 (0) 7247 9393-0
Fax: 0033 (0) 47557-4149 . . Fax: 0049 (0) 7247 9393-33

= www.protemfr A CUT ABOVE THE REST 1ISO 9001 www.protem-gmbh.de
TTSNG 88_22STD1216_Rev A_230217 14/38
Mechanik

Bei einem Spiel zwischen dem festen und beweglichen Teil kann ein Einstellen der Rollen erforderlich

sein.

Stecken Sie durch den Werkzeugtrégerteller einen 2,5 mm Sechskantschliissel.

Lockern Sie die Rolle von hinten mit einem 5er Sechskantschlissel.

Die Rolle von vorne im Uhrzeigersinn drehen, sodass die Rolle die Bahn beriihrt.

Die Rolle von hinten mit dem 5er Sechskantschliissel anziehen (mit einer Kraft von ca. 3 m.kg) und
von vorne mit dem 2,5 mm Sechskantschliissel festhalten.

Wiederholen Sie diesen Vorgang bei allen Rollen und beachten Sie dabei das kreuzweise

Einstellen.

_, ®
o

2.5 hexagon wrench
Clé six pans de 2.5
2,5 mm Imbussschliissel

Tool holder plate
Plateau porte outils
Werkzeugtrigerteller

V bearing on eccentric axis
Galet excentrique
Exzenterrolle

gdachine h](:_using ﬁxe:d ?an Blocking screw
o‘rps machine - partie 1xe Vis de blocage
Maschinengehduse — fester Teil Klemmschraube

5 hexagon wrench
CIé 6 pans de 5
5 mm Imbussschliissel

Subject to maodification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller

Les informations contenues dans ce document sont st

de modifi

sans information préalable. Ces informations sont confidentielles et demeurent |a propriété

de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans I'accord écrit préalable de PROTEM.

Les Conditions Générales de Vente de PROTEM sont applicables 4 titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,

vervielfélligt oder verandert werden, chne das verherige schrifliche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkéufers



PROTEM SAS PROTEM GmbH
Z| les Bosses o Bfa0 —] Am Hamblegel 27
e | WY / PROTEM cerRI |, D7SI06 Dsternoim
Fax: 0033 (0) 47557-4149 ~ T || Fax 0049 (0) 7247 9393-33
= wwngDtemAfr A CUT ABOVE THE REST |SO 9001 a,\(ﬂvww.grgtgm:gmbh‘de
TTSNG 88_22STD1216_Rev A_230217 15/38

A.5.1 Druckluftmotor

- Uberpriifen Sie das Aufbereitungssystem fiir die Druckluft

- Uberprifen Sie den Betriebsdruck - Mindestdruck 6 Bar - ansonsten mit dem Druckregler einstellen
und sicherstellen, dass der Durchsatz bei 1400 I/min liegt.

- Uberpriifen Sie den Schmierélstand und filllen Sie bei Bedarf Speziald! fur "Pneumatikwerkzeuge"
nach.

Hinweis: Zum Optimieren der Schmierung sollte der Filter weniger als 5 Meter von der
m Maschine entfernt angeordnet werden.
Wenn die Maschine nach Benutzung in einer feuchten Umgebung 24 Stunden oder mehr
nicht benutzt wird, wird dringend empfohlen, einige Tropfen Ol in den Lufteinlass des Motors
zu geben und den Motor einige Sekunden laufen zu lassen. Dadurch kann eine
Beschéadigung der Rotorschaufeln des Motors vermieden werden.

m WICHTIG: Die Anwendung unserer Filter ist eine Voraussetzung fur die Annahme von
Gewdhrleistungsanspriichen.
Die Garantie wird aufgehoben, wenn der festgestellte Schaden auf eine verschmutzte Luft
oder eine unzureichende Schmierung zurtickzufiihren ist.

A.5.2 Elektromotor

- Sicherstellen, dass die Spannung des Netzes 110V - 220V - 380 V betragt.
- Anschliisse und Stromkabel Gberprifen.

A.5.3 Antrieb der Motoren

Das Planeten- und Winkelgetriebe wird im Werk mit dem unten aufgefiihrten Schmierfett geschmiert:

ORAPI - CTDMEP2 / 606
3606 S1

Hochdruckfett

Farbe: blau

Hinweis: Es ist eine Schmierung auf Lebenszeit vorgesehen, die nur bei einer Reparatur ausgewechselt
werden darf. Das Winkelgetriebe kann gelegentlich nachgefettet werden. Bitte beachten Sie, dass die
Anwendung von zu viel Schmierfett zu einer erhthten Temperatur der Motoren bei den
Bearbeitungsvorgédngen fiihrt.

Bei einer taglichen Anwendung muss das Kegelradgetriebe alle 2 Wochen nachgefettet werden.
Dazu kénnen folgende Schmierfetttypen verwenden werden:

ORAPI - CT 46 08 - MoS;

3608 S1

-30°C/ 165°C

Farbe: schwarz

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans |'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif,
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielféltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschliefllich die Lieferbedingungen des Verk&ufers.



PROTEM SAS PROTEM GmbH
Zl les Bosses -—_4' afa0 T ‘ Am Hambiegel 27
F-26800 Etoile sur Rhone Wl D-76706 Dettenheim
Tol 0033 (0) 475574141 \ry PROTEM ‘G.EE.R" Tel.: 0049 (0) 7247 9393-0
Fax: 0033 (0) 47557-4149 . || Fax 0049 (0) 7247 9393-33
& wwagZotem.fr A CUT ABOVE THE REST 1SO 9001 www.grc(ﬂe)!m-gmbh.de
TTSNG 88_22STD1216_Rev A_230217 16/38

A.6 FUNKTIONSSTORUNGEN

A.6.1 Antrieb

Druckluftmotor:

Wenn sich die Motoren vom Typ MO10 beim Beaufschlagen mit Luft nicht drehen:

- Uberpriifen Sie, ob die Maschine an der Luftversorgung und am Stromnetz angeschlossen ist.

- Demontieren Sie den Abzugsgriff und drehen Sie den Rotor mit einem 4,er Sechskantschliissel, den
Sie in die Bundschraube stecken (Uberprifen Sie, dass das Drehen des Werkzeugtragers nicht
behindert ist).

Stecken Sie den 4er
Sechskantschliissel in die
Schraube

Drehen Sie den Rotor, um

die Lamellen des Stators

in Bewegung zu bringen.
X T

Schrauben Sie den
Abzugsgriff ab. |\

Wenn der Motor nicht richtig lauft, missen Sie den Durchsatz und den Druck lhres Druckluftnetzes
Uberpriifen:

- 1400 |/min far einen MO10,

- Druck: 6 bar.

- Uberpriifen Sie den Rohrdurchmesser der Druckluftieitungen: 3/4” oder 1”.

ELEKTROMOTOR:

Sicherstellen, dass am Stecker Strom vorhanden ist.
Richtige Spannung und Stromstérke tUberprifen.
Uberpriifen, dass das Kabel des Motors nicht abgetrennt ist.
- Uberpriifen, dass sich der Werkzeugtréger frei drehen kann.

Bei anhaltendem Problem wenden Sie sich bitte an uns.
A.6.2 Maschine

Probleme beim Schneiden

» Wenn beim Schneiden Probleme auftreten, folgendes tberpriifen:

- Zustand der Schnittkante der Werkzeuge

- Position der Werkzeuge

- Schérfe der Werkzeuge

- Drehspiel des festen Teils in Bezug zum sich drehenden Teil und folglich die Einstellung der Rollen

Nach mehreren Schnitten kann die Rollbahn abstumpfen. Die Einstellung der Rollen muss (ber ihre
Exzenterachse justiert werden.

Motor abklemmen und die Maschine langsam drehen lassen. Das Drehen der Rollen tiberpriifen und
dazu durch die Befestigungslécher der roten Schrauben schauen (POS.7).

Wenn sich mehrere Rollen nicht mehr drehen, eine Einstellung vornehmen (siehe vorausgehenden
Abschnitt).

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans l'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables 4 titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschiielich die Lieferbedingungen des Verkaufers



PROTEM SAS PROTEM GmbH
Zl les Bosses el S Am Hambiegel 27
s | N0/ PROTEM e | D,
‘: | on v nar e a ' !
Fax: 0033 (0) 47557-4149 . / A CUT ABOVE THE REST | B 5 ' | Fax: 0049 (0) 7247 9393-33
_www.protem.fr 1SO 9001 www.protem-gmbh.de
TTSNG 88_22STD1216_Rev A_230217 17/38
A.7 STANDARDWERKZEUGE
Schneidwerkzeuge
X R A
| i r by

Nachschneider rechts Vorschneider rechts
(O-TTS-D1D-12-H-11) (O-TTS-D2D-12-H-12)

Anfasmesser

Y\ §\\\ Y = 30° oder 37°30

e X

30° Anfasmesser (O-T15-D4-12-H-18)

37°30 Anfasmesser (O-TTS-D4-12-H-13)

Die Anfasmesser miissen verwendet werden mit:
einem Nachschneider links (O-TTS-D1G-12-H-10)

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans l'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielféltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlieflich die Lieferbedingungen des Verkaufers



PROTEM SAS

Zl les Bosses
F-26800 Etoile sur Rhone
Tel.: 0033 (0) 47557-4141
Fax: 0033 (0) 47557-4149

www.protem.fr

W

PROTEM

A CUT ABOVE THE REST

"~ 1SO 9001

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim
Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33

www.protem-gmbh.de

TTSNG 88_22STD1216_Rev A_230217

18/38

A.8 TABELLE DER SPANNBACKEN

MASCHINE @
ROHR

TTS 27 3/14"
1/8"
TTS 33 b
114"
1/8"
TTS 42 1" Ya
172"
3/8"
1/8"
TTS 48 1" %
3/4"
12"
1/8"
TTS 60 2"
1" Ve
"
172"
TTS 73 2" %
on
1" %
314"
12"
TTS 88 3"
2" %
om
1" Va

TTS 101 3" %
3"
2"
"
1" 2
TTS 114 4"
3" Y2
3n
2" %
on

@ mm Standardspannb ZUSATZSP ZUSATZSP ZUSATZSP Schraube Schraube Schraube

26.5
10.3
334
13.7
10.3
42.2
21.3
17.1
10.3
48.3
26.7
21.3
10.3
60.3
42.2
334
21.3
73
60.3
48.3
26.7
21.3
88.9
73
60.3
42.2
33.4
101.6
88.9
73
60.3
48.3
114.3
101.6
88.9
73
60.3

acke (x4)

Klammerspannbacken
Klammerspannbacken
Klammerspannbacken
Klammerspannbacken

Klammerspannbacken

220 3 XX X X X X X X X X X X X X X X X X X X X X XXX XXX X

ANNB.
ST.11,6
(x4)

ANNB.
ST.23 (x4)

ANNB.
ST.34,5
(x4)

(x4)
M12x80

aube

H-

KX X XX X XXX X XX X X X X X X X X X X

(x4) (x4)
M12x100  M12x120
H- H-

Kopfschr Kopfschra Kopfschra
ube ube
X
X
X
X
X
X
X
X
X
X

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftiiche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers



PROTEM SAS PROTEM GmbH
20000 Sl e Rhone "“""'*‘"PROTEM afag e | plremeee
rnr | W =R | p.

www protem fr A C__UT ABOVE THE REST 1ISO 9001 www.protem-gmbh de

TTSNG 88_22STD1216_Rev A 230217 19/38
MASCHINE ROHR @ mm Standardspannb ZUSATZSP ZUSATZSP ZUSATZSP Schraube Schraube Schraube
%] acke (x4) ANNB. ANNB. ANNB. (x4) (x4) (x4)
ST.11,5 ST.23 (x4) ST.34,5 M12x80 M12x100 M12x120
(x4) (x4) H- H- H-
Kopfschra Kopfschra Kopfschra
ube ube ube

TTS 127 4" 127.3 X X

4" 1143 X X

3"% 101.6 X X X

3" 88.9 X X X

2" s 73 X X X

2" 603 X X X

TTS 141 5" 1413 X X
4" 1143 X X X

3"%. 101.6 X X X

3" 88.9 X X X

2" s 73 X X X

TTS 168 6" 168.3 X X
5" 1413 X X X

4" 1143 X X X

3"Y%: 101.6 X X X

& 88.9 X X X

TTS 193 7 1933 X X
6" 168.3 X X X

5" 1413 X X X

4" 1143 X X X

TS 219 8" 2191 X X
7 1933 X X X

6" 168.3 X X X

5" 1413 X X X

Subject to modification without prier notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans inft ion préalable. Ces ir ions sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans l'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfalligt oder veréndert werden, ohne das vorherige schriftiche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers




PROTEM SAS

Z| les Bosses
F-26800 Etoile sur Rhone
Tel.: 0033 (0) 47557-4141
Fax: 0033 (0) 47557-4149

www.protem.fr

U/ PROTEM

A CUT ABOVE THE REST

afa

0C €

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim
Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33
www.protem-gmbh.de

SO 9001

TTSNG 88_22STD1216_Rev A_230217

20/38

A.9 EXPLOSIONSZEICHNUNGEN UND STUCKLISTEN DER
MASCHINE TTSNG (09/15)

e}
g

IMors - Javs - Spannbacken
- MO

Tl ©
S o

mp

_{z03)

—©
)

0-er®

Chanct PO course 18mm pour
TTS27 2 141 - Tool hoksr cariags

Wakaaridganeh Wekzeuglrigessohite Wetzsughtigerschitien
We elzeugtrig n efdzeugtrigersc n
(”-05 Hubﬂicae:‘g:igo e Hub30 mm - ro Hub50 mm - PO

Charnot PO coursa 20mm paur
TTS16E 4 210~ Tool nokder comage

Chanat PO couwrse S0mm

Option motorisation - Rignt angled drive
a renvoi d'angle
Antriuhopﬁon-*ir&uurilicb MOT

1 606
2y

\&/

Motorsation droite- Maotorisation
gtudorAmhb -MOT

@?w .5101 () \503)

6Iul.@ 6G aﬂ/] 403 &
" |I | l
\ ;‘ ~
{ /E>n£~/|
o p
& @& >

/\—
o

!
SOI' 60;‘:* IDI‘

u

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller
Les informations contenues dans ce document sont susceptibles de medifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans |'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables 4 titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielféltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlielich die Lieferbedingungen des Verkaufers




PROTEM SAS PROTEM GmbH

. 2685{; I;s ﬁossssRh -4 a f'aQ | "W""Wi Am Hambiegel 27
- toile sur Rhone G sl | | D-76706 Dettenheim
Tel.: 0033 (0) 47557-4141 \ / I Ro l EM c G‘EEEP' Tel.: 0049 (0) 7247 9393-0
Fax: 0033 (0) 47557-4149 ; : o] || Fax: 0049 (0) 7247 9393-33
www.protem.fr A CUT ABOVE THE REST 1ISO 9001 www.protem-gmbh.de
TTSNG 88_22STD1216_Rev A_230217 21/38
Embrayage-Clulch-Kupplung Emoravage-Clutch-Kupplung | | Charniére- Hinge - Scharmnier
ENE ENE Ay

© 0N A ON =2 Z

— |
- 0

100
101
102
103

104
105
106

Gualet V-Bearing ( _-3]
Rolle - ca. e

&
@ ©
- -
{113) 111
Ly

TTS NG

Description Bezeichnung Anz: Order Ref N°

Plateau P.O. Werkzeugtragerteller 2  TTSNG-ref. machine-10
Corps moteur Motorgeh&use 1 TTSNG-ref. machine-11
Corps Gehéause 1 TTSNG-ref. machine-12
Vis de fermeture couronne Verschlussschraube fir Kranz 6 TTSNG-VIS-20
Barrette de fixation Fixierspange 4  TTSNG-POTF-C18-21
Vis CHC M5x12 M5x12 CHC Schraube 8 TTSNG-POTF-CO09
Vis CHC M6x20 M6x20 CHC Schraube il TTSNG-GAL-CO05
Vis CHC M8x16 M8x16 CHC Schraube 1 TTSNG-MOT-CO09
Vis de blocage couronne Klemmschraube fir Kranz 2 TTSNG88-14

** Anzahl, siehe Tabelle auf folgender Seite

Kupplung - EMB / Clutch - EMB

Sous-ensemble embrayage pour Kupplungsteilsystem fir
machine équipée de chariots Maschine mit Schiitten Hub
course 18mm 18mm 1 TTSNG-EMB-SSE1
Doigt d'embrayage Kupplungsfinger 1 TTSNG-EMB-10
Corps d'embrayage Kupplungsgehause 1 TTSNG-EMB-11
Poignée Griff 1 US40-48

TTS Kupplungshalterung,
Support d'embrayage TTS droit gerade 1 TTSNG-MOT-17
Ressort de compression Druckfeder 1 TTSNG-EMB-C0O02
Goupille cyl @5 Ig 18 Zylinderstift @5 Lg 18 1 TTSNG-EMB-CO01

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans l'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder veréndert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers



PROTEM SAS PROTEM GmbH
] Zlles _Bosses —‘-‘ aFaQ f\m Hambiegel 27
s st | G / PROTEM jeerr| | g D7smoDsenem
e g A CUT ABOVE THE REST | === 08 o e O e
TTSNG 88_22STD1216_Rev A_230217 22/38
107 Vis HC M6x12 Bout plat M6x12 Flachkopfschraube 1 TTSNG-EMB-CO03
108 Cale d'embrayage Kupplungskeil 1 TTSNG-MOT-16
109 Sous-ensemble doigt d'embrayage Teilsystem Kupplungsfinger 1 TTSNG-EMB-SSE2
Sous-ensemble embrayage pour Kupplungsteilsystem far
machine équipée de chariots Maschine mit Schiitten Hub 30
110 course 30mm ou 50mm bzw. 50mm 1
111 Vis CHC M8x50 CHC M8x50 Schraube 1 TTSNG-MOT-C011
112 Rondelle Scheibe 1 TTSNG-MOT-CO12
113 Vis CHC M5X30 CHC M5x30 Schraube 1 TTSNG-MOT-C010
114 Vis CHC M8x16 CHC M8x16 Schraube 1 TTSNG-MOT-C009
Spannbacken - MO / Expansion Jaws - MO
201 PatinH=11.5 Druckstiick H=11.5 . TTSNG-MO-15-1
202 PatinH=23 Druckstlick H=23 * TTSNG-MO-15-2
203 PatinH=34.5 Druckstiick H=34.5 * TTSNG-MO-15-3
204 Vis de mors Backenschraube ® TTSNG-MO-16
205 Demi-rondelle Halbscheibe * TTSNG-MO-21
206 Mors Spannbacke * TTSNG-MO-22
207 Vis CHC M4x12 M4x12 CHC Schraube * TTSNG-MO-C002
208 Teilsystem Standardbacken Spannbacke v TTSNG-MO-SSE1
Vis téte H M12x80 M12x80 H-Kopfschraube * TTSNG-MO-CO04
Vis téte H M12x100 M12x100 H-Kopfschraube * TTSNG-MO-CO05
209 Vis téte H M12x120 M12x120 H-Kopfschraube * TTSNG-MO-CO06
* Anzahl, siehe Tabelle der Spannbacken
Charniére~ CH / Scharnier-CH
300 Sous-ensemble charniére Teilsystem Scharnier 1 TTSNG-CH-SSE1
301 | Charniére femelle Scharnier Gelenkpfanne 1 TTSNG-CH-13
302 Charniére male Scharnier Gelenkkopf 1 TTSNG-CH-14
303 Axe de charniére Scharnierachse 1 TTSNG-CH-15
304 Anneau de levage M8 Aufhéngdse M8 1 TTSNG-CH-CO01
305 Vis téte H a embase M8x16 M8x16 H-Bundschraube 1 TTSNG-CH-CO02
306 Vis CHC M5x25 M5x25 CHC Schraube 2 TTSNG-CH-CO03
307 Vis CHC M5x16 M5x16 CHC Schraube 2 TTSNG-CH-CO04
Galet- GAL / Rollen - GAL
400 Galet excentrique Exzenterrolle i TTSNG-GAL-SSE1
** for numbers, refer to the chart on the next page
Motorisation droite - MOT / Rechter Antrieb - MOT
501 Pignon Ritzel 1 TTSNG-MOT-10
502 Boitier Gehause 1 TTSNG-MOT-11
Axe pour MO10 Achse fur MO10 TTSNG-MOT-12
503 Axe pour MOO05 Achse fur MO05 1 TTSNG-MOT-14
504 Rondelle Scheibe 1 TTSNG-MOT-13
505 Moteur pneumatique MOO05 MOO05 Druckluftmotor 1 MOG5-D-9/4-B-CLAV
506 Roulement Lager 2 TTSNG-MOT-CO01

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.

Les informations contenues dans ce document sont susceptibles de modifications sans information préalable, Ces informations sont confidentielles et demeurent la propriété

de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans I'accord écrit préalable de PROTEM.

Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.

Anderungen der technischen Daten vorbehalten, Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,

vervielfaltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers



PROTEM SAS
Z| les Bosses
F-26800 Etoile sur Rhone

—

afag

CEFRI

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim

e | \(/ PROTEM R e
e A CUT ABOVE THE REST 1SO 9001 M.Eroiem-gmbh.de
TTSNG 88_22STD1216_Rev A_230217 23/38
507 Circlips Sicherungsring 1  TTSNG-MOT-CO02
508 Clavette Passfeder 1 TTSNG-MOT-CO04
509 Moteur pneumatique MO10 MO10 Druckluftmotor 1 MO10-D1-B-CARRE
510 Vis FHc M6x10 M6x10 FHC Schraube 1  TTSNG-MOT-CO06
511 Vis CHC M6x50 CHC Schraube M6x50 2 TTSNG-MOT-CO08
Option motorisation renvoi d'angle-MOT / Winkelgetriebe (optional) - MOT
601 Pignon Ritzel 1 TTSNG-MOT-10
602 Boitier Gehduse 1 TTSNG-MOT-11
603 Axe Achse 1 TTSNG-MOT-12
604 Rondelle Scheibe 1 TTSNG-MOT-13
605 Roulement Lager 2  TTSNG-MOT-CO01
606 Circlips Sicherungsring 1 TTSNG-MOT-CO02
607 Clavette Passfeder 1  TTSNG-MOT-CO04
609 Moteur pneumatique MO10 RA MO10 RA Druckluftmotor 1 MO10-D1-RA-CARRE
610 Vis FHc M6x10 M6x10 FHC Schraube 1 TTSNG-MOT-CO06
611 Vis CHC M6x50 M6x50 CHC Schraube 2 TTSNG-MOT-CO08

Quantité de galets par machine / Rollenanzahl pro Maschine

TTSNG-27
TTSNG-33
TTSNG-42
TTSNG-48
TTSNG-60
TTSNG-73
TTSNG-88

[«- T «- TN s> BN o> BaYs B o <]

i
o

TTSNG-101
TTSNG-114
TTSNG-127
TTSNG-141
TTSNG-168
TTSNG-193
TTSNG-219

10
10
10
16
16
16
16

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans l'accord écrit préalable de PROTEM.

Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.

Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM, Es darf nicht verbessert,
vervielféltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers



PROTEM SAS PROTEM GmbH

Zl les Bosses | el e Am Hambiegel 27
F-26800 Etolle sur Rhone Ly PR TE M —— D-76706 Detienheim
e | N | o

ax: - ax.

www.protem.fr A CUT ABOVE THE REST 1SO 9001 www.protem-gmbh.de

TTSNG 88 _22STD1216_Rev A_ 230217 24/38

EXPLOSIONSZEICHNUNG DRUCKULFTMOTOR : 12/09
von TTSNG-27 bis TTSNG-60

(9 (09 (D (9 (09 (o9 () .
Vot

® O®® ® ®

&

9 @ W 9 @ @ ()

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielféltigt oder verandert werden, ohne das vorherige schriftiche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers.



PROTEM SAS

Zl les Bosses
F-26800 Etoile sur Rhone
Tel.: 0033 (0) 47557-4141
Fax: 0033 (0) 47557-4149

www.protem.fr

7

PROTEM

A CUT ABOVE THE REST

CEFRI

ISO 9001

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim
Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33
www.protem-gmbh.de

TTSNG 88_22STD1216_Rev A_230217

25/38

ND
101
102
103
104
105
106
107
108
109
110
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126

MO05 - TTSNG-27 bis TTSNG-60

Description:

Bloc arriére
Silencieux
Roulement
Flasque arriére
Goupille

Palette

Rotor

Carter arriére
Stator rotation a droite
Flasque de fixation
Axe de sortie clavette
Roulement

Circlips

Carter avant
Porte-satellite
Satellite 16dts
Pignon avant 15dts
Goupille

Cage a aiguilles
Pignon avant
Satellite 20dts
Porte satellite
Roulement
Flasque avant
Goupille

Bezeichnung
hinterer Block
Schalldampfer
Kugellager
hinterer Flansch
Splint
Fligel
Rotor
hinteres Gehause
Stator (rechtsdrehend)
Befestigungsflansch
Abtriebswelle
Kugellager
Sicherungsring
vorderes Gehause
Satellitentréger
Satellit 16 Zahne
vorderes Ritzel 15 Zahne
Splint
Nadellager
vorderes Ritzel
Satellit 20 Zahne
Satellitentrager
Kugellager
vorderer Flansch
Splint

* Sold together
* als Satz verkauft

Anz:

P o O P S N P e Wl e L 7> B SR QU S X, TP G O G QU W (S N 4 | J S W G [P N Sy S

R=9/4
Artikelnummer
MO5-17
MO5-24
MO5-Co06
MO5-12
MO5-Co09
MO5-16
MO5-15
MO5-11
MO5-26
MO5-28
* MOS5- 25-1
MO5-Co02
MO5-Co10
MO5-10
* MO5-20-2
MO5- 21-2
MO5-23
MO5-Co03
MO5-Co04
* MO5- 22
MO5-21-1
* MOS5- 19-1
MO5-Co05
MO5-13
MO5-Co08

Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified

without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.

de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans l'accord écrit préalable de PROTEM.

Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschliefilich die Lieferbedingungen des Verkaufers



PROTEM SAS

Z| les Bosses
F-26800 Etoile sur Rhone
Tel.: 0033 (0) 47557-4141
Fax: 0033 (0) 47557-4149

www.protem.fr

7

PROTEM

A CUT ABOVE THE REST

" 1S0 9001

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim
Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33

www.protem-gmbh.de

TTSNG 88_225TD1216_Rev A_230217

26/38

EXPLOSIONSZEICHNUNG DRUCKULFTMOTOR MO10: 12/09
von TTSNG-73 bis TTSNG-168

Subject to madification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables  titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftiche Einverstandnis von PROTEM. Es gelten ausschliefilich die Lieferbedingungen des Verkaufers



s Bosees — Am Hambiogel 27
F-26800 Etolle sur Rhone \ | PROT E M ceFRI D-76706 Dettenneim
Tel.: 0033 (0) 47557-4141 : g ‘ Tel.: 0049 (0) 7247 9393-0
Fax oﬁvav?v(,gzcﬂff?mg / A CUT ABOVE THE REST ISO 9001 ‘ Fam;é?én?;;t?ﬁ%i-%

TTSNG 88_22STD1216_Rev A_230217 27/38

MO10 - TTSNG-73 bis 168 R=9/12
N° Description: Bezeichnung Anz: Artikelnummer
101 Axe de sortie Abtriebswelle 1 Mo20-25-1
102 Douille a aiguilles Nadellager 1 Mo10-Co03
103 Bride moteur Motorflansch 1 MO20-28
104 Carter avant vorderes Geh&use 1 Mo10-10-1-D
105 Roulement a billes Kugellager 1 Mo10-Co01
106 Circlips extérieur duBerer Sicherungsring 1 Mo10-Co09
107 Circlips intérieur innerer Sicherungsring 1 Mo10-Co11
108 Carter pneumatique hinteres Gehause 1 Mo10-11
109 Joint torique O-Ring 2 Mo10-Co08
110 Feutre de silencieux Filz 1 Mo10-35
111 Tamis pour silencieux Sieb 1 Mo10-36
112 Corps de silencieux Dampfergehduse 1 Mo10-26
113 Joint torique O-Ring 1 Mo10-Co14
114 Vis téte bombée a embase M6x10 Rundkopfschraube M6x10 1 Mo10-Co06
115 Roulement a billes Kugellager 1 Mo10-Co02
116 Flasque arriere hinterer Flansch 1 Mo10-12-1
117 Goupille mécanindus Spannstift 1 Mo10-Co13
118 Stator Stator 1 Mo10-14
119 Palette moteur Rotorschaufel 5 Mo10-16
120 Cale Keil 1 Mo10-18

800 - Ensemble rotor— Rotorsystem

801 Sous-ensemble rotor+pignon 9dts Rotorteilsystem + 9-Zahneritzel 1 MO10-15-9-SSE1
803 Roulement a billes Kugellager 1 Mo10-Co02
804 Flasque avant vorderer Flansch 1 Mo10-13

500 - Ensemble planétaire avant — Teilsystem vorderes MO10-22-3-SSE2

Planetengetriebe
Train planétaire avant vorderes Planetengetriebe 1 * Mo10-22-3
Axe de satellite* Satellitenachse 3 * Mo10-Co19

* goupilles positionnées pour recevoir un pignon 12 dents — Anordnung der Stifte fir Aufnahme eines 12-Zahne-Ritzels

600 - Ensemble planétaire arriére — Teilsystem hinteres

Planetengetriebe MO10-19-3-12-SSE1
Train planétaire arriére hinteres Planetengetriebe 1 *Mo10-19-3
Rondelle Scheibe 1 *Mo10-Co21
Pignon 12 dents 12 Zahne-Ritzel 1 * Mo10-20-4
Axe de satellite* Satellitenachse* 3 *Mo10-Co19
* goupilles positionnées pour recevoir un pignon 9 dents - Anordnung der Stifte fir Aufnahme eines 9-Z&hne-Ritzels
700 - Ensemble satellite 23 dts — Teilsystem 23 Zdhne Satellit MO10- 23-3-SSE1
Satellite 23 dents 23 Zahne Satellit 3 *Mo10-23-3
Douille a aiguille Nadelbuchse 3 *Mo10-Co12
900 - Ensembile satellite 22 dts — Teilsystem 22 Zdhne Satellit MO10-23-4-SSE1 |,

Subject to medification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschliellich die Lieferbedingungen des Verkaufers




PROTEM SAS PROTEM GmbH

Z| les Bosses el . Am Hambiegel 27
F-26800 Etoile sur Rhone L1 D-76706 Dettenheim
Tel.: 0033 (0) 47557-4141 s

Fax: 0033 (0) 47557-4149

www.protem.fr

A CUT ABOVE THE REST

Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33

ISO 9001 www.protem-gmbh.de |
TTSNG 88 _22STD1216_Rev A_230217 28/38
Satellite 22 dents 22 Zéhne Satellit 3 *Mo10-23-4
Douille a aiguille Nadelbuchse 3 *Mo10-Co12

* Obligatorisch zusammen montiert
* Obligatorisch zusammen montiert
* Obligatorisch zusammen montiert
* Obligatorisch zusammen montiert

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified

without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.

Les informations contenues dans ce document sont susceptibles de modifications sans information préalable, Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans I'accord écrit préalable de PROTEM.

Les Conditions Générales de Vente de PROTEM sont applicables & titre exclusif,

Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielféltigt oder verandert werden, chne das vorherige schriftiiche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkéufers



PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim

PROTEM SAS
Z| les Bosses il afa0 ]
F-26800 Etoile sur Rhone [
Tel.: 0033 (0) 47557-4141 \ PROT EM c €!CE.FRI; Tel.: 0049 (0) 7247 9393-0
- e ] Fax: 0049 (0) 7247 9393-33
A CUT ABOVE THE REST 1SO 9001 www.protem-gmbh.de
29/38

Fax: 0033 (0) 47557-4149
www.protem.fr
TTSNG 88_22STD1216_Rev A_230217

EXPLOSIONSZEICHNUNG WINKELGETRIEBE: 04/05

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified

without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété

de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans |'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers



PROTEM SAS PROTEM GmbH
Z| les Bosses --"" afao ] P:,m Hambiegel 27
e | U/ PROTEM | B2 € | comesmn,,
Fes Al s A CUT ABOVE THE REST | == 8 ot | | Far oot 0 7267 e
TTSNG 88 _225TD1216_Rev A_230217 30/38
RA20 TTSNG
Nr. Description Bezeichnung: Anz: | Artikelnummer
1 | Circlips Sicherungsring 1 RA20-CO04
2 | Entretoise Distanzstiick 1 RA20-8
3 | Entretoise intérieure inneres Distanzstiick 1 RA20-10
4 | Demi-lune halbes Distanzstiick 1 RA20-9
5 |Ecrou Mutter 1 RA20-7
6 | Douille  aiguilles Nadelbuchse 1 RA20-CO02
7__| Pignon arbré | Wellenritzel 1 RA20-5
8 |[Corps | Gehause 1 RA20-2
9 | Douille a aiguilles | Nadelbuchse 1 RA20-CO01
10 | Graisseur Schmiernippel 1 RA20-CO06
11 | Couronne Zahnkranz 1 RA20-3
12 | Axe moteur | Antriebsachse 1 RA20-4
13 | Roulement Lager 1 RA20-CO03
14 | Chapeau Abdeckung 1 RA20-6
EXPLOSIONSZEICHNUNG ELEKTROMOTOR MS10_: 12/09
- 700

' ("
A §
\\K\\\I Y s
AN
MO10-Co03-—
MO20-28 o - MO10-CoDl
MOI10-10-1

500

MO0 Col?

MO10-Coll

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or medified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller,
Les informations contenues dans ce document sont susceptibles de madifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé 4 tiers sans l'accord écrit préalable de PROTEM.

Les Conditions Générales de Vente de PROTEM sont applicables 4 titre exclusif.

Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfdltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gellen ausschlieBlich die Lieferbedingungen des Verkaufers.



PROTEM SAS
Z| les Bosses

__-4
F-26800 Etoile sur Rhone X !
Tel.: 0033 (0) 47557-4141 /

Fax: 0033 (0) 47557-4149

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim
Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33

PROTEM

A CUT ABOVE THE REST

www.protem.fr ISO 9001 www.protem-gmbh.de
TTSNG 88_22STD1216_Rev A_230217 31/38
MS10-TTSNG R=9/12
Nr. Description: Bezeichnung Anz: Artikelnummer
Bride moteur Motorflansch 1 Mo20-28
Axe de sortie carrée Vierkant-Abtriebsachse 1 Mo20-25-1
Douille a aiguille Nadellager 1 Mo10-Co03
2-stufiges
Carter de réduction 2 étages Untersetzungsgehéuse 1 Mo10-10-1
Roulement a billes Kugellager 1 Mo10-Co01
Circlips intérieur innerer Sicherungsring 1 Mo10-Co11
Circlips extérieur auBerer Sicherungsring 1 Mo10-Co09
Moteur électrique MS10 110V MS10 110V Elektromotor 1 ME-MS10-CO07
Moteur électrique MS10 230V MS10 230V Elektromotor ME-MS10-CO06

801 Sous-ensemble rotor+pignon 9dts
803 Roulement a billes

804 Flasque avant

500 - Ensemble planétaire avant — Teilsystem vorderes

Train planétaire avant
Axe de satellite*

800 - Ensemble rotor—- Rotorsystem

Rotorteilsystem + 9-Z&hneritzel 1
Kugellager 1
vorderer Flansch 1

MO10-15-9-SSE1
Mo10-Co02
Mo10-13

MO10-22-3-SSE2

Planetengetriebe
vorderes Planetengetriebe 1 * Mo10-22-3
Satellitenachse 3 *Mo10-Co19

* goupilles positionnées pour recevoir un pignon 12 dents — Anordnung der Stifte fiir Aufnahme eines 12-Z&hne-Ritzels
600 - Ensemble planétaire arriére — Teilsystem hinteres

Train planétaire arriére
Rondelle

Pignon 12 dents

Axe de satellite*

Planetengetriebe MO10-19-3-12-SSE1
hinteres Planetengetriebe 1 *Mo10-19-3
Scheibe 1 * Mo10-Co21
12 Zéhne-Ritzel 1 * Mo10-20-4
Satellitenachse* 3 * Mo10-Co19

* goupilles positionnées pour recevoir un pignon 9 dents - Anordnung der Stifte fiir Aufnahme eines 9-Zéhne-Ritzels

700 - Ensemble satellite 23 dts — Teilsystem 23 Zdhne Satellit

Satellite 23 dents
Douille a aiguille

900 - Ensemble satellite 22 dts — Teilsystem 22 Zahne Satellit

Satellite 22 dents
Douille a aiguille

MO10- 23-3-SSE1
23 Zahne Satellit 3
Nadelbuchse 3

MO10-23-4-SSE1
22 Zahne Satellit 3
Nadelbuchse 3

* Obligatorisch zusammen montiert
* Obligatorisch zusammen montiert
* Obligatorisch zusammen montiert
* Obligatorisch zusammen montiert

Subject to madification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans I'accord écrit préalable de PROTEM.

Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.

Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfdltigt oder verandert werden, ohne das vorherige schriftiche Einverstandnis von PROTEM. Es gelten ausschliefilich die Lieferbedingungen des Verkaufers




PROTEM SAS - PROTEM GmbH

Z| les Bosses ) Am Hambiegel 27
F-26800 Etoile sur Rhone ik
Tel.: 0033 (0) 47557-4141
Fax: 0049 (0) 7247 9393-33

D-76706 Dettenheim
Fax: 0033 (0) 47557-4149 A CUT ABOVE THE REST Sl el
.p -gmbh.

Tel.: 0049 (0) 7247 9393-0
www.protem.fr
TTSNG 88 22STD1216_Rev A 230217 32/38

A.10 KLAMMERSPANNBACKEN UND SONDERAUSSTATTUNG FUR
AUFTRAG 22-STD-12/16

Anbringen der Klammerspannbacken:

- Die zwei zusammengehérenden festen Spannbacken (Pos.1) mit einem 5
mm Imbussschlissel positionieren und fixieren (2 CHC M6x30
Schrauben). Vor dem Blockieren tberprifen, ob die festen Spannbacken
am Innendurchmesser des Maschinengeh&uses anliegen.

- Die zwei beweglichen Spannbacken (Pos. 2) an den
Standardspannbacken (Pos.3) anbringen und fixieren (2 FHC M4x10
Schrauben, 2,5mm Imbussschlissel).

Subject to madification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans |'accord écrit préalable de PROTEM,
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum van PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, chne das vorherige schriftiche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers.



PROTEM SAS

Z| les Bosses
F-26800 Etoile sur Rhone
Tel.: 0033 (0) 47557-4141
Fax: 0033 (0) 47557-4149

www.protem.fr

W PROTEM

A CUT ABOVE THE REST

afag

150 9001

ecﬁfﬁ-i
|

" 1S0 9001

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim
Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33
www.protem-gmbh.de

TTSNG 88_22STD1216_Rev A_230217

33/38

Schneidwerkzeuge

Trennschleifmesser, flach Pos.17-004

Trennschleifmesser, spitz Pos.17-005

17004

N

v 4

17-005

o

- Anbringen der Messer, Einstellen der Kupplung und Bearbeitung siehe
Anweisungen im Punkt 3.2.

- Hinweis: Fir die Bearbeitung eines Rohrs mit Auliendurchmesser
76,17mm, muss das unten abgebildete Distanzstiick 1029 verwendet
werden, damit fir das Hin- und Herfahren der Schlitten im Bereich der
Kupplung ausreichend Platz vorhanden ist.

1029

10v08

Subject to modification without prior notice. Its content is confidential, this decument is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent |a propriéte
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables 4 titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfélligt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers




PROTEM GmbH
****** ] Am Hambiegel 27

PROTEM SAS

Zl les Bosses el |
F-26800 Etoile sur Rhone P T afag : - D-76706 Dettenheim
I8 (e \ RO EM < €9§!‘-P' Tol: 0040 0) 7247 8360.0
ax: \ _- ] ax:
www.protem.fr A CUT ABOVE THE REST 1SO 9001 www.gro!em—gmbh.da
34/38

TTSNG 88_22STD1216_Rev A_230217

Explosionszeichnung und Stiickliste:

22-STD-12/16

2,

&

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller,
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé 4 tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables 4 titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM, Es darf nicht verbessert,
vervielfélligt oder verandert werden, ohne das vorherige schriftiche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers.



PROTEM SAS
Zl les Bosses
F-26800 Etoile sur Rhone

/PROTEM

afan

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim

Tel.: 0033 (0) 47557-4141 \, CEFRI | 1e1: 0049 (0) 7247 9393-0
i | W Ncormtenines | S | AR
TTSNG 88_22STD1216_Rev A_230217 35/38

[ - ) (=]

%“;%Z

B = )
B et L1

Sesar
N o, if’/ =
\girose

¥y

B

O |

s

s

[Egl—le

1]

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé & tiers sans I'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables & titre exclusif.

Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers




PROTEM SAS

Z| les Bosses
F-26800 Etoile sur Rhone
Tel.: 0033 (0) 47557-4141
Fax: 0033 (0) 47557-4149

www.protem.fr

—

\WERQTEM

ISO 9001

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim
Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33

www.protem-gmbh.de

TTSNG 88_22STD1216_Rev A_ 230217 36/38
il S A o= i}
N 1\ oo ) FEPRSNNRECO I s B (cun I FNS v 0 =
@0:1 0' / @'Q___] o._.
| I
COUPE I-1
N m
‘i:;'fé—
.
*,

Nr. Désignation Bezeichnung Anz: Artikelnummer
1010 Mors enveloppant @25.4 Klammerspannbacken @25,4 2 22STD1216- 1010
1011 Mors enveloppant @33.7 Klammerspannbacken @33,7 2 22STD1216- 1011
1012 Mors enveloppant @38.1 Klammerspannbacken @38,1 2 22STD1216- 1012
1013 Mors enveloppant @42.4 Klammerspannbacken @42 4 2 225TD1216- 1013
1014 Mors enveloppant @248.3 Klammerspannbacken @48,3 2 22STD1216- 1014
1015 Mors enveloppant @50.8 Klammerspannbacken @50,8 2 22STD1216- 1015
1016 Mors enveloppant @60.3 Klammerspannbacken @60,3 2 22STD1216- 1016
1017 Mors enveloppant @63 Klammerspannbacken @63 2 22STD1216- 1017
1018 Mors enveloppant @76.1 Klammerspannbacken @76,1 2 225TD1216- 1018
1019 Reducteur M12-M6 Reduzierteil M12-M6 2 22STD1216- 1019
1020 Mors fixe @25.4 fester Spannbacken @25,4 2 225TD1216- 1020
1021 Mors fixe @33.7 fester Spannbacken @33,7 2 228TD1216- 1021
1022 Mors fixe @38.1 fester Spannbacken @38,1 2 22STD1216- 1022
1023 Mors fixe @42.4 fester Spannbacken @42,4 2 228TD1216- 1023
1024 Mors fixe @48.3 fester Spannbacken @48,3 2 22STD1216- 1024
1025 Mors fixe @50.8 fester Spannbacken @50,8 2 22STD1216- 1025
1026 Mors fixe @60.3 fester Spannbacken @60,3 2 225TD1216- 1026
1027 Mors fixe @63 fester Spannbacken @63 2 22STD1216- 1027
1028 Mors fixe @76.1 fester Spannbacken @76,1 2 22STD1216- 1028
1029 Réhausse embrayage Kupplungsaufsatz 1 22STD1216- 1029

10C01 TTSNG-88 MS10 RA TTSNG-88 MS10 RA 1 228TD1216- 10C01

10VO01 Vis CHC M4x10 CHC M4x10 Schraube 2 22STD1216- 10V01

10V02 Vis CHC M4x16 CHC M4x16 Schraube 2 228TD1216- 10V02
10V03 Vis CHC M4x20 CHC M4x20 Schraube 2 22STD1216- 10V03
10V04 Vis CHC M4x25 CHC M4x25 Schraube 2 22STD1216- 10V04
10V05 Vis FHC M4x10 FHC M4x10 Schraube 2 22STD1216- 10V05
10V06 Vis CHC M6x30 CHC M6x30 Schraube 2 22STD1216- 10V06
10V07 Vis CHC TB M6x30 CHC TB M6x30 Schraube 2 22STD1216- 10V07
10V08 Vis CHC M8x35 CHC M8x35 Schraube 1 22STD1216- 10Vv08
10V09 Ecrou Hm M12 Hm M12 Mutter 2 22S5STD1216- 10V09
17-004 Outil pelle Nachschneider 1 17-004

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.
Les informations contenues dans ce document sont susceptibles de madifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans l'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables  titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfdltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers



PROTEM SAS PROTEM GmbH

2l les Bosses el = — Am Hambiegel 27
F-26800 Etoile sur Rhone G, arag re— D-76706 Dettenheim
Tel.: 0033 (0) 47557-4141 ) == Tel.: 0049 (0) 7247 9393-0

Fax: 0033 (0) 47557-4149 - Fax: 0049 (0) 7247 9393-33
www.protem.fr A CUT ABOVE THE REST |SO 9001 :vww.grolem-gmbh.de
TTSNG 88_22STD1216_Rev A_230217 37/38
17-005 Qutil pointe Vorschneider 1 17-005

Subject to modification without prior nofice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller
Les informations contenues dans ce document sont susceptibles de modifications sans information préalable. Ces informations sont confidentielles et demeurent la propriété
de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans |'accord écrit préalable de PROTEM.
Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,
vervielfaltigt oder verandert werden, ohne das vorherige schriftiche Einverstandnis von PROTEM. Es gelten ausschlielich die Lieferbedingungen des Verkaufers



PROTEM SAS

Z| les Bosses
F-26800 Etoile sur Rhone
Tel.: 0033 (0) 47557-4141
Fax: 0033 (0) 47557-4149

www.protem.fr

U/PROTEM

A CUT ABOVE THE REST

=C€

ISO 9001

CEFRI
J

PROTEM GmbH
Am Hambiegel 27
D-76706 Dettenheim
Tel.: 0049 (0) 7247 9393-0
Fax: 0049 (0) 7247 9393-33

www.protem-gmbh.de

TTSNG 88 22STD1216

Rev A_230217

38/38

A.11 NOTIZEN

Subject to modification without prior notice. Its content is confidential, this document is unique and is PROTEM property, it shall not be corrected, duplicated or modified
without the written agreement of PROTEM. The content refers exclusively to the sales and delivery conditions of the seller.

Les informations contenues dans ce document sont susc

de modifi

sans information préalable. Ces informations sont confidentielles et demeurent la propriété

de PROTEM. Le contenu de ce document ne peut pas étre dupliqué, modifié ou diffusé a tiers sans 'accord écrit préalable de PROTEM,

Les Conditions Générales de Vente de PROTEM sont applicables a titre exclusif.
Anderungen der technischen Daten vorbehalten. Der Inhalt ist vertraulich. Dieses Dokument ist einzigartig und das Eigentum von PROTEM. Es darf nicht verbessert,

vervielféltigt oder verandert werden, ohne das vorherige schriftliche Einverstandnis von PROTEM. Es gelten ausschlieBlich die Lieferbedingungen des Verkaufers









